A BB LEFEHSER 68 10H WO OF OB OB O % % & 308 t
[B¥3% 337 t ] [RE 61 t ]
B AREIIRIEASBEE 25 % EFbhbEL BMOL: ATMEIIATHESE A 56 % RE
B . M (BiAH)
B 3% R %=

& H TEpEL B x| B #E % fH i H FEEH | B L | B B Z B
N A v/ 200 g 43 32 || N ABRDA FOERIL 250 g 486 —
LA = B 200 g 108 — | U 5 250 g 378 —
TEDH g [ 200 g 54 32 | o — — — —
Eo5AE ) = B 200 g 81 64 | B2 L9 IE 7 200 g 648 324
Fh& = B 8 kg 2, 160 540 | T Z 71T x BR 300 g 410 -
Lpi&EL Y 150 g 86 B TR AT [ 9 ke 7,776 6, 480

— — - — — | T =R 15.5 ke 5, 400 —

VAN 5 & 10 ke 1, 404 1, 080
FEEIZA C A & 10 ke 1, 944 1, 296
< & = ¥ 15 ke 1,728 1, 404
Xy XY V1 10 ke 1,512 1, 080
L&A = ¥ 10 ke 1, 944 1, 620
XY ™5 5 ke 2, 700 —
AN AN 5 ke 1, 620 —
h= b ARSI 4 kg 1,296 864
B o E 150 ¢ 54 —
58 FoER 10 ke 6, 480 2, 160
L ox = & 10 ke 1, 944 1, 296
mERE T E 20 ke 2,376 2, 268
A LW ™ B 100 g 151 118
LH U £ ¥ 100 g 59 54




= R R PR E G S E R 6A 108 @ A E WMWK EEKE 48 t

WMo . AWEERIESEEE 2 %# £bhsb [/ 26 t ) [ 9t ] (5T 13 t ]
B [ (BhAA)

i pe o} +
Bh H FEEM | B | & & % B B B FEEM | B 4| & E % fE
Ax S AHIE P 1 ke 3, 024 1,728 | |4 F U 1 ke 3,024 1, 080
nESC A B B 1 ke 1, 296 1,188 | #PN J IV 1 ke 1, 296 540
V% £ & 1ke 1, 242 280 | # 7 = a7 1 ke 2, 160 1, 080
WA (R 1 kg 2, 268 216 | 4=Hi FOER I 1 kg 1, 404 -
AT B W 1ke 583 162 | VU A E 1ke 6, 480 1,188
AJWVA AT 1. 1 ke 1, 350 g4 | BA T~ AbiEE 18 248 54
EA<F = Ix 1 ke 1,728 270
&5 A = I 1 ke 1,296 216
&4 = P il 1 ke 2, 160 1, 620
INE = IR 1 ke 2, 484 540
T AbiEE 1 ke 1,728 540
AR & & 1 ke 3, 780 1, 782
HY A FoER L 1 ke 1,296 324




